Name: Date:

Teacher: Class:

Subtraction 403

Why did the rabbit go to the barber? To get a hare-cut.

Subtract (Take away) these numbers to find the total.
NO Trading.

L. 642 2 745 3> 926 4 613 > 365 & 781
— 522 — 234 — 915 — 111 — 204 — 571

7776 & 294 % 895 10 497 1 439 12 670
- 374 - 144 —-815 —296 — 116  — 200

13302 4 442 15 232 16 639 17 548 18 494
- 201 -—211 —101 —214 - 144  — 420

19. 465 20 411 2L 519 22 741 23 485 24 588
— 211 — 411 — 313 — 431 — 441 — 438

5. 883 . 870 2 297 2 584 2 665 0 995
- 263 -830 —122 —-360 —401  — 730

L. 317 2 408 B 396 3#* 562 B 254 36 787
- 116 —106 —333 —211 —150 — 526

. 47 ¥ 918 ¥ G651 4 770
- 333 -910 -—531 - 670

© Facilitators Ferriswheel WS#:Sub403 Score:



Answer Key Date:

Teacher: Class:

Subtraction 403

Why did the rabbit go to the barber? To get a hare-cut.

Subtract (Take away) these numbers to find the total.
NO Trading.

L. 642 2 745 3> 926 4 613 > 365 & 781

- 522 —23 -915 —111 —204 - 571
120 511 11 502 161 210
7776 8 294 9 895 10 497 11 439 12 670
- 374 - 144 —-815 —296 — 116  — 200
402 150 80 201 323 470
13302 4 442 15 232 16 639 17 548 18 494
- 201 -—211 —101 —214 - 144  — 420
101 231 131 425 404 74
19 465 20 411 2. 519 2 741 2 485 2 588
- 211 —411 —313 —431 - 441  — 438
254 0 206 310 44 150
5. 883 . 870 2 297 2 584 2 665 0 995
- 263 -830 —122 —-360 —401  — 730
620 40 175 224 264 265
L. 317 3 408 3 396 3% 562 35 254 36 787
- 116 —106 —333 —211 - 150 — 526
201 302 63 351 104 261
. 647 % 918 ¥ 651 O 770
- 333 -910 -—531 - 670
314 8 120 100

© Facilitators Ferriswheel WS#:Sub403 Score:



